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QUESTION 1

Drag and Drop the GLBP components from the left onto the correct functions on the right. 

Select and Place: 

Correct Answer: 

 

 

QUESTION 2

While doing network discovery using Cisco Discovery Protocol, it is found that rapid error tracking is not currently
enabled. Which option must be enabled to allow for enhanced reporting mechanisms using Cisco Discovery Protocol? 

A. Cisco Discovery Protocol version 2 

B. Cisco IOS Embedded Event Manager 
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C. logging buffered 

D. Cisco Discovery Protocol source interface 

E. Cisco Discovery Protocol logging options 

Correct Answer: A 

CDP Version 1 -- This is the first version of CDP which was used for the discovery of Cisco devices in the network. This
version is mainly used for backward compatibility. 

CDP Version 2 -- This is the most recent version of CDP which has enhanced features such as rapid reporting
mechanism, which is used to track down errors and minimize costly downtime. It allows you to track instances even if
the native 

VLAN ID or port duplex states do not match between connecting devices. 

This is the default version on all switches. 

Reference: http://sbkb.cisco.com/CiscoSB/GetArticle.aspx?
docid=0ed03cbac49b446ab390a657917d817c_Cisco_Discovery_Protocol_CDP__Properties_Set
tings_on_Sx500_S.xmlandpid=2andconverted=0 

 

QUESTION 3

You administer a network that uses two routers, R1 and R2, configured as an HSRP group to provide redundancy for
the gateway. Router R1 is the active router and has been configured as follows: R1#configure terminal
R1(config)#interface fa0/0 R1(config-if)#ip address 10.10.0.5 255.255.255.0 R1(config-if)#standby 1 priority 150
R1(config-if)#standby preempt delay minimum 50 R1(config-if)#standby 1 track interface fa0/2 15 R1(config-if)#standby
1 ip 10.10.0.20 Which of the following describes the effect the "standby preempt delay minimum 50" command will have
on router R1? (Select the best answer.) 

A. The HSRP priority for router R1 will increase to 200. 

B. Router R1 will become the standby router if the priority drops below 50. 

C. The HSRP priority for router R1 will decrease to 50 points when Fa0/2 goes down. 

D. Router R1 will wait 50 seconds before attempting to preempt the active router. 

Correct Answer: D 

 

QUESTION 4

Which feature do you implement so that a physical port enters the loop inconsistent state if it fails to receive BPDUs? 

A. loop guard 

B. loop disable 

C. root guard 

D. flex links 
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E. BPDU ignore 

F. loop block 

Correct Answer: A 

 

QUESTION 5

Which three features can be optimized by using SDM templates? 

A. port security 

B. trunk 

C. VLAN 

D. access 

E. DHCP snooping 

F. routing 

Correct Answer: CDF 

 

 

QUESTION 6

Refer to the exhibit. 

Users of PC-1 experience slow connection when a webpage is requested from the server. To increase bandwidth, the
network engineer configured an EtherChannel on interfaces Fa1/0 and Fa0/1 of the server farm switch, as shown here: 

Server_Switch#sh etherchannel load-balance 

EtherChannel Load-Balancing Operational State (src-mac): 

Non-IP: Source MAC address 

IPv4: Source MAC address 
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IPv6: Source IP address 

Server_Switch# 

However, traffic is still slow. Which action can the engineer take to resolve this issue? 

A. Disable EtherChannel load balancing. 

B. Upgrade the switch IOS to IP services image. 

C. Change the load-balance method to dst-mac. 

D. Contact Cisco TAC to report a bug on the switch. 

Correct Answer: C 

Since this traffic is coming from PC-1, the source MAC address will always be that of PC-1, and since the load
balancing method is source MAC, traffic will only be using one of the port channel links. The load balancing method
should be changed to destination MAC, since the web server has two NICs traffic will be load balanced across both
MAC addresses. https://www.CertBus.com/300-115.html 

 

QUESTION 7

Which command sequence do you enter to configure an RSPAN VLAN? 

A. vlan 4097 remote-span 

B. vlan 4097 name RSPAN 

C. vlan 51 remote-span 

D. vlan 51 name rspan 

Correct Answer: C 

OR Which command sequence do you enter to configure an RSPAN VLAN? Choose two) 

1. 

vlan 51 

2. 

remote-span 

 

QUESTION 8

Why the network administration can want to to disable MAC address learning on the router? 

A. To free up space in MAC address table. 

B. To use space in MAC address table 
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C. To wipe space in MAC address table. 

D. There was a security violation. 

Correct Answer: A 

 

QUESTION 9

What is the maximum number of switches that can be stacked using Cisco StackWise? 

A. 4 

B. 5 

C. 8 

D. 9 

E. 10 

F. 13 

Correct Answer: D 

Up to 9 Cisco Catalyst switches can be stacked together to build single logical StackWise switch since Cisco IOS XE
Release 3.3.0SE. Prior to Cisco IOS XE Release3.3.0SE, up to 4 Cisco Catalyst switches could be stacked together.
Reference: http://www.cisco.com/c/en/us/products/collateral/switches/catalyst-3850-series- switches/
qa_c67-722110.html 

 

QUESTION 10

What action should a network admin take to enable VTP pruning on an entire management domain? 

A. Enable VTP pruning on any client switch in the domain. 

B. Enable VTP pruning on every switch in the domain. 

C. Enable VTP pruning on any switch in the management domain 

D. Enable VTP pruning on a VTP server in the management domain. 

Correct Answer: D 

 

QUESTION 11

A question about GLBP 

A. uses UDP port 3222 

B. www.certbus.com 
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C. www.certbus.com 

D. www.certbus.com 

Correct Answer: A 

 

QUESTION 12

Select and Place: 

Correct Answer: 
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